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1. An ideal spring with spring constant k 15 hung from the cellmg and a mass M 15 attached
to 1ts lower end. The mass 15 released with the spring mitially unstretched. The maximum
extension of the spring 13-

a) 4Mzk b 2Mgk ¢) Mgk d) Me/2k

[

The human heart forces 60 cc of blood at each beat agamst an average pressure of 12ecm
of mercury. If the pulse frequency 1s 72 per minute, calculate the power of the heart
watt. (Density of mercury 1s 13.6 gm/cc)

a) 11.5 Watt b)) 1.15 Watt ¢} 2.05 Watt  d) 1.05 Wait

The mass of fuel cammed by a rocket 13 80% of the fotal mass. As the rocket nses, gases
are ejected at a speed of 1.5 km/s. What 13 the maximum speed attammed by the rocket?
INeglect the effect of gravity.

(8

a) 105 km/'s  b) 1025.5 km/'s e} 24kmis  d)4.2km's

4. A sphenical black body with a radms of 12 cm radiates £30 Watt power at 500 E. If the
radins was halved and temperature was doubled the power radiated would be

a) 225 Watt b)) 450 Watt <) 900 Watt  d) 1800 Watt
5. An air bubble under water shines due to
a) interference b} dispersion c) total mtemal reflection d) diffraction
6. If a radioactive sample at any mstant has 1ts disintegration rate 3000 disintegrations per
nunute. After 5 nunutes the rate 15 1250 disintegrations per mimute, then the decay
constant 15
a)01ln2 b)0&In2 e}04n2 d)02In2
/. Areal gas 1s most likely to approach ideal behavior at

(2) high temperature and low pressure (k) high temperature and ngh pressure
{c) high temperature and low pressure (d) standard temperature and pressure

8. How many grams of ethane (C:Hg) gas can be contamed m 11.2 L at a pressure of 10 atm
and at a temperature of 136 °C7

(a) 20 g (k)33 g (c) 100 g (d)66 g



9. What 15 the molecular geometry for SF4?
(a) Trgonal bipyramid (k) T-shaped {c) Square pyramid  {d) Seesaw

10. What 15 the hybndization state of the central carbon atom of HyCCCH,?

(a) sp® (t) sp* (c) sp (d) sp*d
11. The ratio of area enclosed by the mscnbed and the circumsenbing circles of a square of
area a” is
{a)1:2 (bl 1:82 (c)l:n2a (d) 1:1.7

12. The first term of an A P. series 13 3 and the last term 15 45, 1f the sum of the senes 1z 500
then what should be the number of terms?

(a) 16 (k) 20 () 22 (d) 10



